(x+y+2)? - (x—-y-2)*& A5-23lshA?

@© 2x(y+2) @ 4x(y-2) ® x(3y+2)
@4x(y +2) ® 4y(x+2)

B

x+y+2=A, x—y-2=Be ¥
A2—B?=(A+B)(A-B)
=(x+y+2+x-y-2)(x+y+2-x+y+2)
=2x(2y +4) = 4x(y + 2)




2.

(Bx+1)2-(2x-3)2 = (5x+a)(x+b) & W, a-b 2] gH2?

® 5 @-1 G- @®@-10 -1

(Bx+1+2x-3)B3x+1-2x+3) = (bx—2)(x+4)
a=-2,b=14
La—-b=-6




3.  (2a-3b)% - (4a - 5b)% = 4(ma + nb)(b — pa) L W, mn - p ] G
ToHH?

O -11 ® 13 @—13 @ 11 ® -2

B ,

2a-3b =X, da—5b = Y & X|3Fs}w
X2-Y2=(X+Y)(X-Y)

= (2a — 3b + 4a — 5b)(2a — 3b — 4a + 5b)
= (6a — 8b)(—2a + 2b)

= 4(3a —4b)(b - a)

om=3, n=-4, p=1

T mn—p=-12-1=-13




4. x*-(>-6y+9) & UFEolstA?

@ (x-y=-5)(x—y+2) @ (x-y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)
@ (x+y-3)(x-y+3)

x* = (y* - 6y +9)
=x*-(y-3)
=(x+y-3)(x-y+3)




oflh

e 1w ge AAztE D E __F
ABED, BCFE of| A BD /// AN
BP. BF — BQ < 4 P, ‘

!

O

FAe B O
o) e Fohn?

= 744 fol e o,

P(a), Q(b) ol ok, a* - b

[

D 162 @—16«/5 ® 20+ 162
@ 20-16V2 ® -20-16+2

B

a=4-V2, b=4+ 2

a’-b* = (a+b)(a-b)
=8x%(-2v2)
=-16V2




6. x=-1+ V3l 4x? +8x+4 9] ghZ FolH?

D 10 @12 ® 13 @ 14 ® 15

B

x+1=V30|BR

4x? +8x+4 =4(x* +2x+1)
= 4(x+1)2
— 4(V3)?
=12




e a3y y? o] T

@ 3 @ 6 @9 @ 12 ® 15

1 V2-1 5
t «/§+1_(«/§+1)(«/§—1)_‘/§ !
1 V2+1 _ e

YT Veo1 T (VE-n(V2+)

x% 4 3xy +y2 = (x + )% + xy ol Al
x+y=(V2-1)+(V2+1)=2+2
w=(V2-1)(V2+1) =1

L(EAD) = (Y2 +xy=(2V2)2+1=9




X2 y?

xy 7F o 2 o, T of 27

DV @i 022 @3 Quva

B

1 V2+1 5
TR (VE-n(VE+) v
1 V2-1 i1

YTVl (VR )(VE-1)
Tt x4y =2V3, x-y=2, py=10H2

2 _ 2 —
A G b )1 Gl ) SN, RO
xy xy




V225 - \/(—6)2+ \/(—3)2x24— V52 - (_\/§>2

=15-6+ /(3x22)°-5-3




10. A:(—v®2—(—va2—\u—m23::%¥+(—Vﬂ2+ (-5)%
(@) SEVER LY

@® -60 @ -48 @10 @ 48 ® 60

B

A=9-5-2=2

1
B:(8+2)+(5><5>:4~|—1:5

AB=2x5=10




10"

11. 506 =

312 ,
V25¢ 3—4:3]’%]@1,(14-179]%):%43}‘5?

® 5 @uw o015 @ 6

B

1012 1012 106
206~ 26x 106 26 OHO=0

312
ST = VE=3p=14

sa+b=10




12, Thg F AN o] T2 shie?

@ 100 - V13?2
@ _\/4x32

2

SR x —
® -/(-5) x\/%
@ -5 + Ve
 (-v2) x (¥8)" = (- Vi)

B

@ VI00- VI3Z=10-13 = -3

V4 2

@—\/(—5)2x\/i2_5:_3
@-V5>+ V6d=-5+8=3
® ()" x (V)" + (-0 =3




13. [a, b, o] = (a=b)(a=c)=t L W, [a, b, |- [b, a, ] T A3,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
A0

@ -1 @ 3 (@)0 @ 2 © -2

B

(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0




14. 2 27 FollA 2d® - a®b - 3ab? 2] A5 BF 1LE ALY
H7]
Q@ a © a-b © a+b
® 2a-b © 2a+2b ® 2a-3b
®© e @ 6,60 ®eo
@a.0 0 60 ©0

2a3 — a*b — 3ab® = a(2a* - ab — 3b?)
= a(2a - 3b)(a+b)
etA Qe @, ©, @ °lH




15. x(y—a)-y+a & HIEA ARt 222

O x+H+a) @ (x+D0-a O (x-1)(y+a)
@-1D6-a) O (1-xa+y)

x(y—a)-y+a=x(y-a)-(y-a)
=@x-1)(y-a




A2

ru

16. o2 H7] F xy(2x + 3y) —xy(x +y) & QIS BF 4

1=
Q@ xy O x+y © x+2
® 2x+ 3y @ x(x+2y) @ y(x+y)
ONGRC) 2)0,©, ® ® 0,06
@ ©, 6,0 ® ©,0,6

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}
= xy(x + 2y)




